

EJERCICIOS

Amplifica las fracciones y luego resuelve cada adición

$$A) \frac{1}{6} + \frac{3}{12}$$

↓

$$\frac{\quad}{\quad} + \frac{3}{12} = \frac{\quad}{\quad}$$

$$B) \frac{3}{7} + \frac{9}{21}$$

↓

$$\frac{\quad}{\quad} + \frac{9}{21} = \frac{\quad}{\quad}$$

$$C) \frac{5}{8} + \frac{1}{4}$$

↓

$$\frac{5}{8} + \frac{\quad}{\quad} = \frac{\quad}{\quad}$$

$$D) \frac{3}{5} + \frac{1}{2}$$

↓ ↓

$$\frac{\quad}{\quad} + \frac{\quad}{\quad} = \frac{\quad}{\quad}$$

$$E) \frac{5}{6} + \frac{7}{12}$$

↓

$$\frac{\quad}{\quad} + \frac{7}{12} = \frac{\quad}{\quad}$$

$$F) \frac{3}{5} + \frac{2}{3}$$

↓ ↓

$$\frac{\quad}{\quad} + \frac{\quad}{\quad} = \frac{\quad}{\quad}$$

$$G) \frac{6}{9} + \frac{7}{27}$$

↓

$$\frac{\quad}{\quad} + \frac{7}{27} = \frac{\quad}{\quad}$$

$$H) \frac{3}{4} + \frac{3}{5}$$

↓ ↓

$$\frac{\quad}{\quad} + \frac{\quad}{\quad} = \frac{\quad}{\quad}$$

$$I) 1\frac{3}{4} + \frac{3}{12}$$

↓

$$\frac{\quad}{\quad} + \frac{3}{12} = \frac{\quad}{\quad}$$

$$J) \frac{3}{4} + \frac{1}{3}$$

↓ ↓

$$\frac{\quad}{\quad} + \frac{\quad}{\quad} = \frac{\quad}{\quad}$$

